
Q.P. Code: 27572 

( 2Yz Hours), I Total Marks: 60 

N.B. : (1) Both the sections are compulsory. 

A. Answer in detail (Any Three) : 36 
1. Differentiate between hat'dwire system and induction loop system. 12 

2. Describe use of speech viewer for management of speech. 12 

3. Describe the web based technology you would prefer as an ISL trainer for 12 
ISL training and why? 

4. What are the different speech to text and text to speech technology products? 12 

5. Explain the main features of ADIP scheme. Discuss the eligibility criteria 12 
for availing funding under the scheme. 

B. Answer in brief (Any Four) : 
6. Discuss the candidacy for BAHA. 

24 
06 

7. Discuss tele-speech therapy. 06 

8. Write a note on online learning material with suitable examples. 06 

9. Discuss the role of captioning in literacy development. 06 

10. Discuss the importance oftechnological products such as FM system for 06 
educational purposes. 

11. Describe the procedure for availing funds from different agents. 06 
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